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QUESTION NO: 1

When using the Migration Tool under Linux to migrate, entering the file permission setting process will cause the process to
be terminated due to security issues

AT

B.F

ANSWER: A

QUESTION NO: 2

Which of the following components can the Stream operator be executed on?
A.CN

B.GTM

C.DN

D.OM

ANSWER: AC

QUESTION NO: 3

Which part of the overall installation process does the "planning data" belong to?
A. Preparation before installation

B. Software installation and deployment

C. Inspection after installation

D. System configuration

ANSWER: A
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QUESTION NO: 4

Which of the following options is not the process of expanding the physical cluster to the logical cluster?
A. Node preprocessing

B. Data redistribution

C. Add nodes to the elastic cluster

D. Capacity verification

ANSWER: C

QUESTION NO: 5

Which of the following is the syntax for creating stored procedures in GaussDB 2007

A. CREATE EXTENSION

Low cost

B. CREATE FUNCTION

High performance

C. CREATE PROCEDURE
High reliability
D. CREATE SCHEMA

Support massive data

ANSWER:ABCD

QUESTION NO: 6

What are the ACID characteristics of transaction
A. Atomic
B. Consistency

C. Isolation
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D. Persistence

ANSWER: ABCD

QUESTION NO: 7

Which of the following operators are high memory elimination operators?
A. HashJoin operator

B. Sort operator

C. Aggregate operator

D. Streamtha operator

ANSWER: ABC

QUESTION NO: 8

The entire system network of GaussDB 200 is divided into planes?
A.2

B.3

C.4

D.5

ANSWER: A

QUESTION NO: 9

Are there any Chinese-foreign joins?
A. CROSS JOIN

B. LEFT JOIN

C. RIGHT JOIN
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D. FULL JOIN

ANSWER:BCD

QUESTION NO: 10
Which of the following is incorrect about the partition design?
A. Partition the existing table, it is best to build the index after the data is migrated

B. If you want to take full advantage of the query of a partitioned table, you must use the field when partitioning as a
condition

C. Global uniqueness before and after partitioning

D. VACUUM or ANALYZE will only play a main role on the main table

ANSWER: A
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